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e 02| Ilekcuka: Things to buy, Sino-Korean numbers

e 21 pamaTtuka: 2/8, -(2)M

e 13| Nekcuka: =& npencteuna, dAmecTa

o =1 MpamaTuka: -AU/A, of| A
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He 25 ( )il D1,
% (11~12) 28 & 20| 82! 28 D2YHAM2. Choose the sentence
W &= Ag @ A @ AlE with the incorrect particle.
5. & M= | JOI0H 2. 1. @ B0 ot ot §0HQ.
O e @ £ @ 48 @ 2e @ BAW 10l UK.
6. 013 Me X2 ( Jol 2. @ MU K ol J12.
Q) 28 2 AZE @ sw @4 3E
7. 0k00 AR ()0l AN K. 12. O 80 A 20| 20,
2) 014 KO 3IAFROINS.
® oiCt @ ®3 3 & @ 9 ¢ o A=
@ 013 M NS0 218,
8. HM( ) B2 AIRO0INE.
Q= @ 2 @ O @ 0
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1-32 ) YTt formative evaluation

<=J0> ¥ (18~20) CIS& &1 8380l &€38I&JAl2. Read the passage and
Jb: 82 A0 K7 answer the questions.
L}:
/m’é'Oil Z2l M, Ol M, EI2 M2 UNHE. 22 M= D12 ME!OIOH\
@ Ul, 82 AME0IN 2 0olU 2, 3IAMR0H O Bla M= H2 ANOINS GBS M= 82 ANOINS 23 M
® ul, 012 A0 @ olLlR, 40|02 T e | C o |
= 0l N 20 UHE. EI2 M= 2 M S0 UHE. 222 M=
KS—‘?—GHR. = M= 2. B2 M= 007|160 2. j
13. 7k N2 2SHR7
- 18. AN $It AHK?
O U, Ssil @2 0oL 2, ZE0|H 2
3 U, A 4 0L 2, 225l
14. J}: ?

19. &2 M= O [AHR?

L 25 S8 JtR.
O 22 MR @2dMS @ Q=+ M @ Q= M &

1 2s HOo 2iI= 2 2@0 AN
3 0|S0 HUZ 4 0 I
20. 0l 28 WEY OUE 2SS D24 A 2. Choose the incorrect
statement according to the passage above.
15. JF 20| Wed [UAHR?
- 1 0l MNe 22 M S0l UAHK.
2 22 M= 812 AME0I0l 2.
@ ul, 30l Rad AAHL @ 0OlU R, 0| Wau AU @ EI2 M 0l0t7I8He.
3 Ul, 20| & UAAHR @ OIL 2, W&ol MY UHE
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HZ| Nekcuka

Hewa 3a KynyBaHe

* &, T2, 4Xf, 0], viLiL, B2, 27, St

(1) mnAako (2) cok (3) KpactaBunuya_ ~  (4)Booa

(5) nyk___ (6) Arona (7) KapTod (8) 6baHaH




HZ| Nekcuka

Hewa 3a KynyBaHe

\_

*  Atnp, QEIX| A2t EOE, X|=X

(1) nopTokarn (2) oomaTt (3) Abbnka__  (4) xnAab6

(5) cnpeHe (6) Anvue
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1. Native Korean Number System
Used for telling:

Age = Al (age can be told in both number systems)
Number of people = &

Number of people (honorific) = £

Hour of the day = Al

Number of hours = A2k

Number of things/items = ’H (counter nouns EP-?-I%'/\P)

» And more
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(Native Korean numbers)
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4 H 15 ALCHA
5 CtAd 16 Ho{A
6 o4 17 s
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Eu_l-'?‘l DS'A" counter nouns

71 /{2 ? Konko a6bnky nma?

4r, _t‘g q %@@_ﬁ/gﬁ\i
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AF2H7F & 7l QI L. Nva oBe abbnku.



I.'_I_|-_C|>_| %Al' counter nouns

71 /{2 ? Konko a6bnky nma?

O AR H 0L, Uma pBageceT KHUN.



Eu_l-‘?'l %Al' counter nouns

0 74 R 2? Konko a6biky nmva?

X yawa
Ze| undpT
& xaptuA
= ToMm

H  kn. 3a xopa
02| kn. 3a XXNBOTHU

3 GyTmnka

7l 6pon

Ll kona/ enexkTpuyecko npucnocobeneHune



2. Sino-Korean Number System
Used for telling:

e Age = Al
e Date = E(year) 2 (month) 2(day)
e Temperature (in degrees) = [

© Measurements =

miles(s) = O0t, meter(s) = Ol &f
gallon(s) = HAH  |iter(s) = 2| Ef
¢ Minutes and seconds = =(Minutes) Z(seconds)

e Phone numbers = 119 €2+ (South Korean emergency)

o Money = &, 2|8}, =

® And more



2. Jllekcuka vHxto{ £
(Sino-Korean numbers)

StXIHO]

1 = 20 Of & 25
2 O] 30 & 31

3 ef 40 A 44
4 Ab 50 Q4 53
5 Q 60 4 68
6 = 70 24 72
7 Z 80 g 89
8 o 90 & 96
9 4 100 e 107
10 ~ 1,000 & 1,003
- - 10,000 at 10,500




Common Count Words
with Native Korean Numbers

Count word Meaning Example

General count word for many

il gae tame At 4| 7 — 4 apples
Ch dal Month st ©F — 1 month
A| si Hour as in saying a time Al A| — 3 o'clock
A7} sigan Hour as in counting hours CtAD A|ZF — S hours
gmyeong OO NS iy 1 g 1 st
At sal Year as in saying an age CtAd AF — S years old
ap2| mari Count word for counting A M| 02| — 5 cows

number of some animals



Common Hanja Counters
with Sino-Korean Numbers

Hanja counter
L4 nyeon
¥ wol
Ql il
B bun
X cho
2| won
3
= cheung

O| & inbun

Meaning
Year
Month
Day

Minute

Second

Won, Korean currency

Week
Floor

Portion

Example

AFld — 3 years
A9 — March
AFQl — 3 days
—» 3 minutes
— 3 seconds
gl 2| — 500 won
) 3 weeks
» 3rd floor

A
-
2 — 3 portions



TELLING TIME IN KOREAN

A5t Al (eoldus) Bt Al
(yeolhansi) 12 o’ clock  (han si)

11 o clock 1 o' clock
2 Al 5 Al
(yeol si) (du si)

10 o’ clock 2 o’ clock
OIE Al Ml Al
(a-hop si) (se si)
9 o clock 3 o’ clock
5 Al L[ Al

yeo-deol si) (ne si)
8 o’ clock 4 o' clock
U= Al CHAd Al
(ikgopsi)  O4Al A| (daseot si)
7 o' clock (yeo-seotsi) 5 o' clock
6 o' clock
R A2 /4t AMeE
(sip-o-bun) (sam-sip-bun/ban) (sa-sip-o-bun)
a quarter after half past a quarter to

ex. 4 Al A2 =4:15 ex. 1 Al HF=4:30 ex. U A| AJAIE = 4:45

PERIODS
OF TIME

TIMES OF THE DAY
A
Noon

of
Morning

2
Evening

At
Midnight

RECENT TIME

o|tc}7}

a little later

s pe

o} 2| 2/ur2 L=l

earlier/a little now/just now later
while ago




A &1/
one 1 2100 [#0|4l)=(2) 0|
ten 10 A =100 [E] + 20 [0 A
hundred 100 5
HH
thousand 1,000 x 205 [O__'Qi
=200 [O]4H] + @ [5]
thousand 10,000 o}
thousand 100,000 & 769 [RlES AT
milion 1,000,000 ot = 700 [2E] + 60 [E4] + 9 [F]
million 10,000,000 o
ilion 100,000,000 oq =
million O
_ 1,000,0 0,000
billion 1,000,000,000 pa 7| HHAIOI
waop MUy HEHEE
billion ~ 10,000,000,000 of 8 HeE
billion  100,000,000,000 of
“4xf2| 201 947
trilion  1,000,000,000,000 X
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6,593 [S71 @ LAl A —

80 [ + 7 [A]

6000 [E%1] + 500 [24H] + 90 [24d] + 3 [+
8,040 [H& AN —

8000 [HH] + 40 [AHY]

13,000 — 12+ + 3000 [(&)2t AF)]

52,000 — 58t + 2000 [22t 0|H]

63,500 — 62t + 85000 [&2t Trx @ HH]

90,742 — 9B + 742 [FOt ZEHALAM O]

30,023 — 30t + 23 [AtOt O|AAL

2390.758 — 230t 4 9758 O A AOF LR AN Q AE




= NpamaTmka

-(2)M 2 (command or request)
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